
Chemistry 40 Mrs. Kornelsen

Equilibrium Part I Practice Quiz %
1. Write the mass action expression and calculate the Keq value for the following

equation with the listed concentrations. CH=+(g) + H20(g) <-> CO(g) + 3 H2(g)

[CH4] = 2 x 10-3 M [H20] = 7 x 10-3 M

[CO] = s x 10-3 M [H2] = 3 x 10-3 M
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2. What is the concentration of 02 if Keq = 6.5 x 10-8 and the concentrations of Hz
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3. What is the concentration of HI if Keq = 4.0 x 103 and the concentrations of Hz

and I2 are 0.25M and 1 .OM respectively?
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4. An equilibrium system was kept at constant temperature and pressure in a five

litre container. It contained O.15 mole of 802 , 0.25 mole of NO2 , 0.40 mole of
NO, and O.50 mole of SO3. What is the equilibrium constant for the following
reaction?

SOs(g) + NO(g) <=> SOz(g) + NO2 (g)
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s. For the reaction:

H2(g) + Fz(g) <-> 2HF(g) K = 3 x 10-4

Find the equilibrium concentration of HF in a 1.00 L container if initially there
were O.200 moles of Hz added to O.200 rpoles of F7.
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6. Initially the concentrations of N2 and 02 are l .4 mol/L each and there is O. l mol/L
of NO. If at equilibrium the [NO] is 2.0 mol/L, find K.

Nz(g) + Oz(g) Hz NO(g)
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